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= 3%
= 56
(EEEEINE= 69,000 69
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SASAEZAIEA 9,240 9,240 0
= 9,240
202 OfH] 2,640 2,640 0
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ENEE 2,640 2,640 0
OsAlE HEASEA A
20,00024*3355J+43] 2,640
= 2,640
301 LBIEAS 6,600 6,600 0
= 6,600
14 JIEIRAZ 6,600 6,600 0
Osht2 HEASTAIRA SOt2a
50,00024*3355J+43] 6,600
= 6,600
OlHa 2 29 101,604 2,041 9,563
Ol2Has 2t H A2 101,604 2,041 9,563
101 o1 24] 32,404 31,841 563
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ODl2HaZ 2 HA2I2] 32,404
pll== 80,2402 x101x2492 19,980
0FXt=g 80,2402 %101x50 4,173
0J|Etgt 1,000,00024% 10! 1,000
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0UEEE 25,153,0002*1.75% 441
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201 LBH2AH 69,200 55,200 14,000
01 AFRZ2IH] 9,000 9,000 0
Oz Rz 84
150,000 122 1,800
Ozt&al 2 QURE S HIERY
400,0002% 128 4,800
O&=D| 2tz 50,0002 x4 CH* 122 2,400
° B329I 60,200 46,200 14,000
OalstEE 23 250,000+ 122 3,000
O 4,500,000+ 12 54,000
Osae32 100,000 %122 1,200
OALKXILS 2,000,000 2,000
EEEEpISES] 2,270,044 2,637,653 A367,609
= 88,600
J| 12,023
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= 2,041,781
NEEVSEISIESIER 643,544 798,653 A155,109
= 14,100
p) 12,023
[ 7,200
2 610,221
DEASASMAT A 19,680 21,120 AT,440
201 LB 8,880 7,920 960
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= 42,000
= 63,000
307 el2to| & 105,000 90,000 15,000
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= 15,000
= 35,000
WSHsE0F 24 M2It 24 J|=sus 5,000 0 5,000
= 1,500
= 3,500
202 4H| 5,000 0 5,000
= 1,500
= 3,500
04 = Histb| 5,000 0 5,000
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5,000,000& 12! 5,000
= 1,500
= 3,500
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| 29,000
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0FXt=4 80,2402 %101x40 3,210
0=elia 20,060,000 *4.5% 903
oAUEEE 20,060, 0002 %3 545% 2
MIIRUYBE=Z 712,000 %12 .95% 3
0NERE= 20,060,0002x1.75% 352
0MTHEE S 20,060,000 %1% 201
O|I22 R} o124| 9,895
== 80,2402 %201x602 9,629
0NERE= 9,629,000 1.75% 169
WTHEE = 9,629,000 1% 97
201 LEH2 A 8,000 8,000
01 Al22t2IH] 1,200 1,200
OMASAIEE 29|
100,00024% 122 1,200

_854_




SA: sHAED
I PSSR SN
CHRl OSE BSE Aot (CHel: X 2)
SA - BB BRI(E) - IRAY - BES ofleso e HIDE
02 =295l 6,800 6,800 0
OWHASAERE I3
400,0002% 128 4,800
OUHASAIERE Y|
500,0002 4% 2,000
206 MZH 35,000 12,000 23,000
SEE 35,000 12,000 23,000
OWSASAEE 29 HIZ
2,916,660 122 35,000
401 AlAHIZ = OHY 20,000 400,000 380,000
01 Al&H] 20,000 400,000 380,000
Ol H8E 25 20,000,000 1IHA 20,000
405 RHAHE S 21,000 21,000
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OS=2HI2] 1 THHH 2 W& Al
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24,000,000250% 12,000
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N N E=EEINE 1,200,000 1,200,000 0
[ 300,000
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[ 300,000
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SEFEREEEREIC))
300,000 x50 4 1,500
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2 1,050
SXEZ Yoz A 171,350 59,000 112,350
=2 85,675
2 85,675
206 M| 171,350 59,000 112,350
=2 85,675
2 85,675
01 THZHI 171,350 59,000 112,350
Os&zE golls 2Alll 171,350,000 171,350
=2 85,675
2 85,675
D HHE OE L LA A 7,500 7,500 0
= 2,250
2 5,250
202 04| 3,600 3,600 0
= 1,080
2 2,520
01 =UHoibI 3,600 3,600 0
O+HHE OIE L YRIF
20,00024%321+602 3,600
S 1,080
2 2,520
206 M| 3,900 3,900 0
S 1,170
2 2,730
01 THZHI 3,900 3,900 0
O+HHS oI L YAl
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= 10,000
= 6,800
01 =l 16,800 16,800
Oudt Golis HZLNY =23
16,800,000 16,800
= 10,000
= 6,800
405 At SHI 20,000 20,000
= 10,000
= 10,000
01 IR ESHSH 20,000 20,000
O gils o2E =l 7
20,000,000& 20,000
= 10,000
= 10,000
o= EoiE olE 2Rus X 1,200 1,200
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= 600
201 er=3| 1,200 1,200
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01 At 1,200 1,200
Out= Eolis ole 2Fu=s X
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NEEEIEER N EEENAE 50,000 0 50,000
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402 DI2HAH=20(E 50,000 0 50,000
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02 SIRIZAAIER 12,360 0 12,360
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NENEEREEERED 3,845,046 3,002, 167 842,889
| 316,375
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2 3,045,326
DEE=NSHN AN 3,845,046 3,002, 157 842,889
| 316,375
= 483,345
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01 =LHoiD] 7,200 7,200
ORI P48
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OAIEI050t HILIX 583 X
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0| S2F A& X
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0%l SHOIHIE Al& XI
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YE 4FD| == 0912 A2 30,000 30,000 0
308 XIS HISO0IE 30,000 0 30,000
13 SISO ZAE S A 30,000 0 30,000
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10,000,000&* 13 10,000
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= 90,227
= 242,671
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OMAZ (T} A0S T2
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= 60,490
= 241,960
OJUESoteA MAAIL Szt NI
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= 90,000
= 360,000
OAIZ3N =3¢ X
633,570,000 *50% 316,785
= 63,357
= 253,428
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01 M=l 28,000 25,000 3,000
OMZHI(LH, =%, B==XH S)
28,000,000 28,000
401 AlEBIZ S| 130,000 50,000 80,000
01 Al&HI 130,000 50,000 80,000
OJXZ ASAIEEZE AlE JHA
130,000,000& 130,000
HUEZ DAY 478,200 638,600 A160,400
402 SIZERH20| A 478,200 608,600 A130,400
01 QI2EXHEAISE S T (KM ) 478,200 608,600 A130,400
ONEE AIMEBX X2 A
100, 000&*3,34020*30% 100,200
OYE0s S4AY
2,000, 0003 *40ha*50% 40,000
OgiE D2ulah ollgh Al
20,000, 0003 *1JH2*80% 16,000
O=g8 AL &X] AlY
22,000, 00024%27H 2 +50% 22,000
OJ|g8s U aAs &2 84 X
300,000, 000-& *2IH 2 *50% 300,000
oIz E=SAE 104,000 48,000 56,000
= 26,000
= 78,000
402 SIZERHE0| A 104,000 48,000 56,000
= 26,000
= 78,000
02 QIFXHEAIEE (01X ) 104,000 48,000 56,000
OL)| Sy 32 =& F 22|= AlY
50,000, 00024 17H 2 +80% 40,000
== 10,000
= 30,000
OAIEE0 TIoIED|E et s As
A 30,000, 000 %1 IH A *80% 24,000
== 6,000
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SN SRS
33 s sSdAA
ool g=)l2ea (crol:mo)
SA - BB BRI(E) - IRAY - BES ofleso e HIDE
= 8,000
OBIEBT &8 WAl Wik A Y T
AlE 50,000,00024+17H A+80% 40,000
< 10,000
= 30,000
gols 222 2(0ls, 21 600 600 0
= 180
= 420
206 XH=H| 600 600 0
= 180
= 420
01 =l 600 600 0
Odolis 22 2 ()
300,000 *2I 2~ 600
= 180
= 420
o= EolE E X UM AIE 7,500 7,500 0
= 2,250
= 5,250
202 04| 3,600 3,600 0
< 1,080
= 2,520
01 =LHOAH 3,600 3,600 0
ORX= EallE oZ B
20,0002+ 1802 3,600
< 1,080
= 2,520
206 XH=H| 3,900 3,900 0
& 1,170
= 2,730
01 =l 3,900 3,900 0
Odu&= dalis olE 2 &Xl
3,900,000& 3,900
& 1,170
= 2,730
AHIE ST UTHHHEX] T (HEAI) 170,000 0 170,000
& 110,500
= 59,500
402 2IZHX=01 A 170,000 0 170,000
& 110,500
= 59,500
02 RIZHHEAIE 2 (01 ™ THR) 170,000 0 170,000
OAHHE & LATHEHEA =4
170,000,000& * 144 170,000
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SN

=
=1=!

ni;

r
Q 0

33 D= s8N
ol Fs)I==8 (Crel &2l
SA - BB BRI(E) - IRAY - BES ofleso e HIDE
< 110,500
= 59,500
LI ASE = 25 Il MY 50,000 0 50,000
= 25,000
= 25,000
402 2IZHX=01 S 50,000 0 50,000
= 25,000
= 25,000
02 RIZHHEAIE 2 (01 ™ THR) 50,000 0 50,000
O&I MZS &l 22 Jl= AE
50,000,000& 50,000
= 25,000
= 25,000
LI U=SR I8 ZY(HEAY) 300,000 300,000 0
< 195,000
= 105,000
402 2IZHX=01 S 300,000 300,000 0
< 195,000
= 105,000
02 RIZHHEAIE 2 (01 ™ THR) 300,000 300,000 0
O &=51 Jgt &4
50,000,000 +6IH A 300,000
= 195,000
= 105,000
Ols, 2 A0IHE=I| =EU Ji=s MY 15,000 0 15,000
= 7,500
= 7,500
402 2IZHX=01 A 15,000 0 15,000
= 7,500
= 7,500
02 RIZHHEAIE 2 (01 ™ THR) 15,000 0 15,000
OO0ts, 2Tt A0IASEFI| =Z8U Ji= Al
< 15,000,008 15,000
= 7,500
= 7,500
A0IEE HYL =5 28 2 A8 23 50,000 0 50,000
= 25,000
= 25,000
402 2IZHX=01 S 50,000 0 50,000
= 25,000
= 25,000
02 RIZHHEAIE 2 (01 ™ THR) 50,000 0 50,000
OADIER ML =5 28 22 AlY
50,000,000& 50,000




2L sHE
33 s sSdAA .
ool ds)|2E3 Cro|: 7S]
dAT =2t
: - oy t[iml
SA - HH . SRI(3H) - MIRAY - B Ol o JmE5!
= 25,000
= 25,000
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